“

0&/-?(«%' e s
I) EV@Q{& ate A )Ctry~m,w la_.
e Aesired verrable a/plak—9-~aﬁr—$ once

. olesived Vverrod (e app-eans froice.
) Use GC 4o create o tal (e of velues
/ o [Ask | +ables
e @ F=lles

> ( wleilote amou ih- T an accomet—

M,Si\/]? (;gy-nfsa: vtrno/; i\Vi*/-(jr.:&Y')[' &YWU.& a_



Mhis Sechion 16 review from Hatll 4B ound HatH 6O

Solve Lor tne seZd-c’\e,A AV aL\i ,

po © Ve fwh for &

’LSoto:tQ, Qf\ \0‘3’ &iu\(&i-/\%.k\oo‘\’ek Sides o'c /‘/\AJL &D(kkdj'\o‘m

VA Rwih il

6\4y€@ Sol e 3\3_( 9\%?‘7‘ —Ccv«ta_ ,
T%eﬁg:ﬁm/ta— \o‘a_ adding PR Ao oot 51

o8 bp— e quohon

33 —2x = 1
Y. A

73‘3: x4+ Y1
Droide o _devns \oué, 2 .

Sz 2% £
2 > >




Mo WG YS]e/ V. &

(@& Sdve A=L(BL L b

NN e o v
3
IA = C’B—i—h) &
*DV\UKKCLQ \Oo*\’e\ SicRos ‘cua ,Q/\;
= (B+b)&
=
£
Jo‘*\rn.d— B *C‘Y@m loa% sides .
99
~ -»= b
/QA |
O Soue T= BVS“LI[WS{'SVW ‘CJY V.
/ L e e N
o * Essential Obser\rcd\j’:\%t ‘CﬁUﬂof\h
V' appears 4twice on Yhe R%S ”DC,‘;\*?O\:_cme
A ¥V and’ \o)
e otHaie Yov\
Add Hws +o beth sides 4 revnove shoud V\ev‘*zf“bp\{‘
e Fecan X(Aocv Aoern o Covrainn V., g‘g‘ﬂjii&e e

T +-Hws = 3ys + Svw

/.D‘Nio\% \O\f %/v\au\‘\"‘\‘\’a, v 'K)cuf—e,V\

Wopcos (B33+5wW)

f_r_:‘i‘:"_::\,‘
35 £ 5w




nzo sle L5

4o (® Selue S+ 2w+ ALK+ AWH  fov 1.
B *Netice W appeais twice own RS
Stbtract 2w which does not contain H.
S—-2LW = M+ AW H
Fadroy cut 4,
S-2lwW = p(aL+aw)
Dwvide \03\ GL\ACLV\“)'\"% ih parentieses .
S-2ALW
AL+ AN
Sh %\A‘\' /Q‘mj bete v awnswer i< «fu\kb \Ct'.d’of‘eci ;

1 s-anw
= H
—~ {;(uw) ]

| 9\7&\4( Y Yyz = LY

- w




N

Math 70 4 B 2.3 Compound Interest Formula* ‘ i

Interest: Amount of money paid for the privilege of using someone else’s money. | f
Case 1: A person who borrows money from a lender will pay interest to the !ender as the cost of using

the lender’s money

e Case?2: Aperson who invests money (savings account, stock market, bonds) is landmg money

business, or government. The investor will be paid interest for allowing that bank business,
government to use their money. : '

Simple interest Formula  /=PRT

A=P+]=P+PRT =P(1+RT) :
I = Interest ($) - money paid to lender or investor

|
’?o abank,

|
i
|
|
|
I
$

P = Principal ($) - money borrowed or invested

R = Rate, interest rate (%) -- per year

T=Time, in years

A =Total amount in owed or in account after T years

Simple interest for part of a year =8 A=P+1= P+£E* 1+
N N N

N = number of equal partsin ayear,so T = —Is— Example: Divide yearin four parts, T=% yq}ar.

~~ Compound interest

Example: Simple interest for part of a year, added to account four times per year forl 5 years

R

Afterthe first ayear: A=P+I=P+P T P(l +—§) « This result becomes the new P!

After the second Y year (1/2 year total):

ool B o e B

3

After the third V4 year (3/4 year total): A= P{l +-§-)
. X

After the fourth Va year (1 yeartotal): 4= P(l +Z)
’ 5

1 5)
4
R 6
3

After the fifth 4 year (1.25 year total): 4= P( +
After the sixth Y year (1.5 yearstotal): 4= P{1+ —_

« Notice 6=4* 1.5=NT

‘ (ar)
Compound Interest Formula® A=P(I+£-)
N

N = number of times interest is compounded each year

Cautton When using GC to calculate, make sure to use parentheses around (NT) m exponent'

*MEMORIZE!
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-84+ GC 10+ Using the Y= menu, Automatic and Ask Tables

Obijectives: Input functions into the Y= menu
Use TBLSET and TABLE to set up and view tables

In addition to the calculating screen and the menus for mathematical operations, the graphing
calculator has other screens to store equations, create tables or graph. The starting point for tables

or graphs is the Y= menu.
CAUTION: When using the Y= menu, the equation must be solved fory.

.
To input equations, press . Use the variable key for x and the regular number and
operation keys (including the MATH menu and its options) for everything else.

. .
CAUTION: Do not use the memory storage location for x. This can cause strange
errors without any error screens.

Example 1: Put y =3x+4 in the Y= menu.

=8 aac

Flotl PlotZ Flot3
Wi B3K+4
We=
Wia=
We=l
We=
“Ws=

Answer: o=

Notice that the Y= menu allows more than one equation. For now, make sure that all the equations
~w ENTER CLEAR
after y, are cleared by using the [ J or [ J keys and -

Once an equation has been put into the Y= menu, we can use the GC to make a table of values.

Step 2: Set up the table using TBLSET. Begin by pressing m -

in the TBLSET menu there are four settings:

1. TbiStart ("Table Start”) refers to the first x-value to be used in the table.

2. ATbl (“Delta Table”) is the amount that will be added to each x-value to get the next x-value.

3. Indpt: (independent variable”) is whether you will input each x-value or let the GC calculate it.
4. Depend (“Dependent variable”) is whether you should input each y-value or the let the GC do it.

\Steg 3. View the table using TABLE. Press m . Use and to move

down or up the table. If you go “off the edge”, the table will move and re-fill (if automatic).

Step 1: Input the equation into the Y= menu. Begin by pressing
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Rev 12-2-11
TI-84+ GC 10+ Using the Y= menu, Automatic and Ask Tablespage 2

_ Example 2: Find the x-values calculated by these choices in TBLSET.

TABLE SETUP
Thlstart=-73
Thl=.5 :

I?\dPnEE AR Ask
Derend: A A=k

TbiStart is -73, so the first x-value will be -73.

D Thlis .5, so the GC will add .5=% to -73 to get the next x-value, and continue adding 2 to get
each subsequent value in the table.

Both Indpnt and Depend are automatic, so the GC will fill the table automatically with y-values from
the Y= menu. (Without seeing the Y= menu, we can’'t know what values of y it will calculate.)

Answer:
X y
-73
-72.5
-72
-71.5

—Example 3: Create an automatic table for y =3x+4 and use it to fill in the given table.

I,\Answer.

xX[-2{-110(1}2
Yy

Step 1: Input y =3x+4 into the Y= menu. (See Example 1.)

Step 2: Notice that the table begins with x=-2 and advances by 1 each row. Set up the tabie using
TBLSET so that TbiStart is -2, &Tbl is 1, and Indpt and Depend are both Auto.

€D Greon) () ] (2 ] (owree) (1) (evren] (vren] (] (ewren]

Step 3: View the table by pressing m and use the display to complete the blank table.

TABLE SETUP S Y1
TblStart=-2 HF 1-2
& = -

Indent.: AR A=k 0 p

Derend: Ask .% io

: &
H=-2

x{-2(-110[1(2
yi-2{114]|7/10

' Copyright 2011 by Martha Fidler Carey. Permission to reproduce is given only to current Southwestern College instructors and students.
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TI-84+ GC 10+ Using the Y= menu, Automatic and Ask Tables page 3

__Example 4: Scroll down in the automatic table for y =3x+4 and fill in the given table.

x120}21(22(23{24

y
9 ~ JCOINES
Step 3: View the table. Press- -,then - 26 times. Complete the blank table.
bl Y1
18 3]
19 61
z0 51
31 67
|
Aamm| 5
X=24

x|20]21]22[23] 24
y |64 6770|7376

When the desired x-values are not in order or are not equally spaced, we could scroll up and down
in an automatic table, but an Ask table will probably be quicker.
To set up an Ask table, in TBLSET, set Indpt to Ask, but leave Depend Auto.

__Example §: Create an Ask table for y =3x+4 and use it to fill in this table.

X[-721-15146 | -3 103
y

Step 2: TbiStart and OTbl can be any values. Change Indpt to Ask and leave Depend as Auto.

=) (=)™

Step 3: View the table by pressing m , input the desired values of x, and use the
display to complete the blank table. '

(G)EBEBICOIC)EREBCIEBERCI(E)
(3 )(eme)(1 J(L0 J((3 (o)

T?Ell_gtSEIl_:lﬁz % Y1 2 1Y
oTbl=1 = = g8 | &
Indernt: Auto EEE 48 142
Derend: s ﬁi 313
’ R= becomes 5=
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TI-84+ GC 10+ Using the Y= menu, Automatic and Ask Tables page 4
_Example 5, continued.

Answer:

x|-72 |-15]46 |-3]103
v | 212 | 41142 | -5 313

NOTE: Sometimes, an Ask table will already have values in it. Just press the desired x-value and
the GC will display it where the cursor is.

CAUTION: Setting indpt to Auto and Depend as Ask (the reverse of what we just did) is useful only
for checking y-values you already know. if your table doesn’t behave as you expect, this might be
your mistake. Setting both to Ask is similarly unhelpful.

Tables can help us guess which vaiues of x are closest to a target value of y.

CAUTION: Sometimes it’s difficult to make the table show exactly the desired value of y. Then you
have to use your brain.

Example 6: Use an automatic table with A TbI=5 to determine the two multiples of 5 for which
y=3x+4 is closest to 57.

" ¥blStart can be any value.

_x JCDIEBESEBICICOIEBCD)] -~ JEI

THBLE SETUS x__|¥i

Derend:

x=15 gives y=49, and x=20 gives y=64. Since 57 is between 49 and 64, the x-value which results in
a y-value of 57 is between 15 and 20.
Answer: between x=15 and x=20

When the same values of x are being used for two (or more) different equations, we can calculate
them at the same time by putting all the desired equations into the Y= menu. The table still displays
ordered-pair information, but the x-values are not printed twice.

Example 7: What ordered pairs are represented by this table?

/]\x y1=3x+4 y2=-3x+4
i |7 1
|-3]-5 13
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. Example 7, continued.

Answer:

(1,7) and (-3,-5) are ordered pairs on the graph of y; =3x+4. (The first column)

(1.1) and (-3,13) are ordered pairs on the graph of y, =~3x+4 . (The second column)

Example 8: Fill in an Ask table for y; =3x+4 and y, =-3x+4 simultaneously and list the ordered
pairs for each function.

X

N =3x+4

Yy =-3x+4

-34

46

-12

0

1003

Step 1: Input both equations into the Y= menu. y; =3x+4 is already there.

() o) (@) ) @B+

Step 2. TbiStart and ATbl can be any values. Set indpt to Ask and Depend as Auto.

S~

Step 3: View the table by pressing m , input the desired values of x, and use the

display to complete the blank table. Notice that y, =-3x+4 is in the second column.

Ploti PlotZz FPlot3 TABLE SETUP b Y4 Va2
WB3K+4 TblStart=-2 34 -gg 106
“WeB-3K+4 aTbl=1 48 142 | -134
W= Indent: Auto 1 e
:":j ;: Derpend: s UL l 3013 | -30085
We=
We= K=

Answer:
X y1=3x+4 y2=—3x+4
-34 |-98 106
46 142 -134
-12 | -32 40
0 4 4
1003 | 3013 -3005

(-34, -98), (46,142), (-12,-32), (0,4) and (1003,3013) are ordered pairs on the graph of y; =3x+4.
_ﬂ\(-34,106), (46,-134), (-12,40), (0,4) and (1003,-3005) are ordered pairs on the graph of y, =-3x+4.

| Note: If you scroll right on the table, you'll see extra decimal places at the bottom of the screen.

Copyright 2011 by Martha Fidler Carey. Permission to reproduce is given only to current Southwestern College instructors and students.
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. Practice

1) Complete the following table for y=2x-5

x{-2{-1/0

112

y

2) Complete the following table for y =2x-5

x120]21]22)23

24

y

3) Complete the following table for y =2x-5

x|-72|-15

46 | -3

103

y

4) Complete the following table for y = x* ~1

x{0i{5]10

15120

y

5) Complete the following table for y =v100—-x? . Round to the nearest hundredth if necessary.

x{0{2{4/68

y

8) Complete the following table for y =3x% —x+9
x|-12(-36[52-1{98
y

™ 7) Use an automatic table with ATbI=5 to determine the two multiples of 5 for which y =2x-5 is

closest to 57.

8) Use an automatic table with & Thi=1 to determine the two integers for which y =2x -5 is closest

9) List the ordered pairs represented by this table.

to 108.
pS Yz
| -y
1 g -4
z 3 z
3 1 s
iy -1 ]
g -3 11
6 - 14
®=8

10) Fill in an Ask table for y, =-2x+7 and y, =3x -4 simultaneously and list the ordered pairs for

each function.

X

N =-2x+7

V2 =3x-4

34

46

-12

0

o 1003
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TI-84+ GC 10+ Using the Y= menu, Automatic and Ask Tables page 7 Solutions

A 1Y
S| -9
-1 -7
0 -5
1 -3
z -1
3 1
y 3
1) K=-2
x{-2/-110 {1 12
y|917[-5[-3[1
b Y1
18 3z
20 35
21 3>
2z 39
z3 il
y3
| [ &
2) B=25
x12012112223 |24
y|35({37(39{41{43
A 1Y
7z 149
-1 -3¢
yg§ B?
-3 11
3) K=
x|-72 {-15146;-3 | 103
yi-149]-35|87 | -11 | 201
s 1Y
PR -1
3 24
1o g8
jc 22y
20 399
z5 B2l
30 gag
4) 5=
x|0{5 (10115 {20
y|-1124|99|224 | 399

5)

6)

7)

8)

9)

—n_1¥1
IS 10
z 9.798
y 91652
5 ]
] 5
10 0
_12__ | ERROR
=0
x{0 |2 4 68
y|10/9.80/9.171816
X Y1
-1z | u4s3
-3 | 3833
52 2063
-1 13
h‘ e8res
K=
x1{-12 {-36 52 -1 |98
y | 453 13933 | 8069 | 13 | 28723
W
3 3
10 is
15 25
20 35
g &
famm)| i
R=33 y is 55 when x is

30, and 65 when x with 35. The value of x
for which y is 57 is between 30 and 35.

y is 107 when x is

56 and 109 when x is 57. The value of x
for which y is 108 is between 56 and 57.

The ordered pairs for y, in this table are
(0,7), (1,5),(2,3),(3,1),(4,-1),(5,-3), and (6,-
5). The ordered pairs for y, in this table
are (0,4), (1,-1),(2,2),(3,5),(4,8),(5,11), and

(6,14).

Copyright 2011 by Martha Fidler Carey. Permission to reproduce is given only to current Southwestern College instructors and students.




Rev 12-2-11

TI-84+ GC 10+ Using the Y= menu, Automatic and Ask Tables page 8 Solutions

,ﬂ A Y1 Ve
h -3y 7 -106
4§ -85 13y
12 3 -i40
0 ? -y
LI -1988 | 3005
10) ¥=
X V=-2x+7| y, =3x-4
-34 |75 -106
46 -85 134
-12 | 31 -40
0 7 -4
1003 | -1999 3005

The ordered pairs for y; in this table are (-34,75), (46,-85),(-12,31),(0,7),and (1003,-1999). The
ordered pairs for y, in this table are (-34,-106), (46,134),(-12,-40),(0,-4),and (1003,3005).
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Ti-84+ GC 11 Interest Formulas and Editing Using Answer, Entry, Delete, and Insert

Objectives: Review the simple and compound interest formulas
Use the GC’s automatic recall of the previous answer, ANS
Review using a previous calculation using Entry (ENTRY = 2" ENTER)
Review editing a previous calculation using Delete (DEL) and Insert (INS = 2™ DEL)

Interest is the cost of using someone else’s money. Interest is paid in two situations:

1. If | deposit money with a bank, credit union, investment fund, stock purchase, etc., | am
investing. | allow that institution to use my money and they will pay interest to me.

2. If | borrow money from a bank, credit union, mortgage lender, car dealership, etc., { am using
someone else’s money. | will pay interest to them.

The simple interest formula 7 = PRT is used to calculate the amount of money earned (or paid) as
interest when amount of money P is deposited (or borrowed) for T years in an account earning (or
owing) R percent interest per year. Round all money answers to the nearest penny.

“Compounding” or “Compound Interest” refers to calculating the interest accrued and adding that
interest to the account so that both the interest and principle earn interest in the future.

Example 1: If you deposit $200 in an account earning 3% compounded monthly, after the first
month, you will earn interest calculated using the simple interest formula, 7 = PRT .

Substitute P =$200,R=0.03,and T = %2— into the formula 7 = PRT toget I = (200)(.03)(1—12—).

(This example will be used for the first four practice problems, which you must do in order.

1) Calculate the interest earned in the first month.

SR EI ER T ENE3EnEnCo

Answer:

| The balance of an account is the amount of money in the account.

2) Calculate the balance after first month by adding the interest you just calculated to the original
deposit.

(+)(2 (o] o ](evren

(Notice: the GC automatically used ANS, the answer from the previous calculation.)

Answer:
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—3) Calculate the interest earned in second month, using the simple interest formula 7 = PRT with
the new balance (including last month’s interest), which happens to be stored as Ans on the GC.

Substitute P = $200.50, R = 0.03, T = 115 into I = PRT .

O OEE D=

Answer:

4) Calculate the balance after second month by adding the interest you just found to the previous
balance.

()2 (oo (. (L5 (o)

Answer:

To save the time of calculating the interest after each compounding period, we can derive a formula
that does the compounding for us. It calculates all the interest, without rounding, to give an exact
final amount in (or balance of) the account.

L

. nt
l'he compound interest formula 4 = P(l +—r—) is used to calculate the amount of money A in an
n

account after t years have passed, if the initial deposit P earns rinterest rate (given as a
percentage, calculated as a decimal), compounded n times per year.

Watch for the word “compounded” in the problem.

Round all money answers to the nearest penny.

5) Calculate the balance in an account when $1000 is deposited for 10 years earning 7% interest
compounded monthly.
P= r= n= t=

Substitute into the compound interest formula: 4= (l + ———]ﬂ N

IMPORTANT NOTE: We need to multiply nt before we can take the exponent.
So when we type into the GC, we must use extra parentheses around the exponent: (nt).

REB TR EBER ( [EBEEB TR EATS
SB[ER ) | - | ( [EREREIER S ) [CD

Answer:
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~“IMPORTANT: To use the keystrokes in these examples, you must do problems 5-9 in order.

6) Calculate the balance in an account when $1000 is deposited for 10 years earning 8% interest

compounded monthly.
P= r= n= i=

Substitute into the formula: 4= (1 + ———)ﬁ N

Only r has changed from the previous calculation. So let’s edit that entry by typing an 8 over the 7.

First we recall the previous calculation using ENTRY, which is m .
€30~ ~)0O_O)0)0s (o

Answer:

7) Calculate the balance in an account when $1000 is deposited for 10 years earning 8% interest
compounded daily.
P= r= n= t=

N

Substitute into the formula: 4= (l + —-——}~ N

Edit the previous: m[emmt[ - )( ) j( ) \[ ) )[ ) ][ ) ﬂ’[ 3 ]( 6]
3G 00 OB EEN(s (o

Answer:

8) Calculate the balance in an account when $1000 is deposited for 9 years earning 8% interest
compounded daily.

p= L o i

Substitute into the formula: 4= *(1 . __._]_'—

catne provous: Gl @™ COCOACC ) EB omee
Answer:

. 9) Calculate the balance in an account when $1200 is deposited for 9 years earning 8% interest
compounded daily.

Answer:

Copyright 2011 by Martha Fidler Carey. Permission to reproduce is given only to current Southwestern College instructors and students.




Rev 12-2-11

TI-84+ GC 11 Interest Formulas and Editing Using Answer, Entry, Delete, and Insert,
solutions page 4

1) $0.50

2) $200.50

3) $0.50 (rounded from $0.50125)

4) $201.00 (rounded from $201.00125)
5) $2009.66

6) $2219.64

7) $2225.35

8) $2054.27

9) $2465.13
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I1-84+ GC 9 Percent Increase and Decrease and Using Tables with the Ask Feature (TI-84+)
Objectives:  Review percent equation, percent decrease and percent increase equations

Use the TBLSET menu to set up an empty table on the GC
Create an user-filled table using TABLE on the GC

LIMPORTAN T: Write the percent as a decimal when using any of these formulae.

The percent equation is used to calculate simple percents.
percent times base = amount

Example: (cost before tax) x (tax rate) = amount of tax

Formula: a=pb

The percent increase equation is used when a percentage of the base is added to the base.
base + percent times base = amount

Example: (cost before tax) + (tax rate) x (cost before tax) = (cost after tax)

Formula: b+ pb=a,orifyoufactoroutb: b(l+p)=a

The percent decrease equation is used when a percentage of the base is subtracted from the base.
' base — percent times base = amount
Example: (cost before discount) — (discount rate) x (cost before discount) = (sale price)

1 formula: b—pb=a,orifyoufactoroutb: b(l-p)=a

1) Hortense has been shopping for tools at Home Depot. Next month, Home Depot is having a sale and all
tools will be discounted 35%. Hortense plans to purchase the tools during the sale.

a) Using X to represent the original price, write an expression for the amount that will be discounted next
month. Is this amount a percent, percent increase, or a percent decrease?

b) Write an algebraic representation for the sale price, y,, in terms of the original price x. Is the sale
price a percent, percent increase or a percent decrease?

¢) Set up an Ask table in your GC.
First, put the expression into the Y= menu.
DR ERER] - [CD)] - ] o)

Second, go to the TBLSET menu. The starting value and increment will not be used, so skip them.

~EP e () ()

Each y-value is calculated using a value of x, so y “depends” on x, or is “dependent”.
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TI-84+ GC 9 Percent Increase and Decrease and Using Tables with the Ask Feature (T1-84+) p.2

ENTER
" Use Ask for the Independent Variable (x) [ ) ] [ |

and Automatic for the Dependent Variable (y)

Third, use the Ask table, using the second function for TABLE.

o I

The table may be blank or have leftover numbers; either is okay. At the bottom of the screen, it says “X=",
The calculator is waiting for you to type values of x.

- EPEI

d) Find the sale price of each item to complete the table below. If necessary, round answers to the nearest

penny. Include units.

Item Hammer Drill Sander Glue gun Screwdriver | Socket

set wrench set
Original $8.25 $39.95 $46.75 $18.45 $21.60 $76.65
Price
Sale price

Type each original price (x) into the Ask table. The calculator will find the sale price (y) for the item.

() ()5 )

3 )09 (

)L (5 (=)

(4 )ls (

JL7 (5 (o)

EBER

14 )5 (ewres]

(20 (

)6 (o

(7 )Ce (

JLe J(5_ (o]

Use the completed table, arithmetic, and algebra to answer the rest of the questions.

e) If he purchases all the items when on sale, what will his total bill be before taxes?

f) What is the total purchase price after taxes if 7% tax is added to the bill? Is this a percent, percent
increase or a percent decrease? Round to the nearest penny, and write the units.

g) How much did he save (before taxes) by waiting for the sale?

h) How much did he save, including taxes, by waiting for the sale?
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TI-84+ GC 9 Percent Increase and Decrease and Using Tables with the Ask Feature (T1-84+) p.3

-~ Solutions

)
a) Percent. 0.35x
b) Percent decrease. y, =x—0.35x or y, =(1-0.35)x or y; =0.65x
Flotl Flotz Plot: TABLE SETUP Y1
“WiB. 65X ThlStart=8 B
“We=l aTbl=
“Wa= Indrnt.: Auto EF%
“Wy= Derend: ENAR H=
“We=
“We=
o x¥e= A=
A 1%
g.25 E.3625
39.5¢ | z5.96H
46.75 | 30.ZHB8
1B.4E i1.592
cl.8 14.04
m 49.R2=2
d) A=
tem Hammer Drill Sander Glue gun Screwdriver | Socket
set wrench set
Original $8.25 $39.95 $46.75 $18.45 $21.60 $76.65
Price
Sale price $5.36 $25.97 $30.39 $11.99 $14.04 $49.82

€) 5.36+25.97+30.39+11.99 + 14.04 + 49.82 = §137.57

f) Percent increase. 137.57 +(0.07)( 137.57) = (1.07)( 137.57) = $147.20

g) Total before sale: 8.25 +39.95 +46.75 + 18.45 + 21.60 + 76.65 = $211.65
Amount saved, without including taxes: 211.65 — 137.57 = $74.08

h) Total of original prices, with 7% tax: (211.65)(1.07) = $226.47
Amount saved, including taxes: $226.47 - 147.20 = $79.27
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1.7.9

Mary Brewster is considering a job as a real a. Use the table and the Ask feature on your

estate agent. She is offered a monthly salary of  graphing calculator to complete the table below.
$500 plus 8% commission on sales of homes.
She would like to know her possible gross pay if Sales (In 57016001650 1700 1750
the homes in the area range from a sales price of thousands)
$570,000 to $750,000, and she averages selling Gross Pay
one home per month.

b. If she sells at least one home a month, what
will her gross salary be between?

a. Complete the table.

Sales Gross Pay
(In thousands) | (Dollars)
570 [ | <4 $4¢, o0

600 []
650 ]
700 []
750 []

b. If she sells at least one home a month, her gross salary will be between $D and $D

Salary funchon 500 = 08X+ 500

S Salaf\/ , (
"= amoeuin o-g: sales |
ax 570 Hho u_fxxn_(:\ = ‘X= 670) oo

e S i e i et e s S I e N j—/vﬁ\f—w (\/\ ‘

£ wWe hneed the zeres 4o calcula
+he correct Percentade
DS NS GO, SN TP SU e

3

Tn &C

F=1 VY., =.08x+500
BLOET

Freser (Tndepe ndert Variakie)
freEl  Aype i SF0,000=x )= 3Heen

Tcpecz;&*p‘o"f r&m‘lﬂhxﬁ X —verlines
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